USDY Warm Up

Multiple Chaoice -
Ientify the choice that best completes the statement or answers the question.

. - y e et «t radical form.
Find the length of the missing side. Leave your answer in simplest r.
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(»/ 3, Wayne used the diagram to compute the distance from Ferris to Dunlap to Butte. How much shorter is the
distance directly from Ferris to Butte than the distance Wayne found?
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V/ 4, Vind the length of the hypotenuse.
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v olthe leg, 11 youranswer is not an integer, leave it in simplest radical form.
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\3 6. The area of o square garden is $0 m, How long is the diagonal? : { S{Zz
ac 28 m b. 100 m C. $.J6m @lﬂm {5

Find the value of the variable(s). If your answer is not an integer, leave it in simplest radical form.
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8. Find the value of x and y rounded to the nearest tenth,

X = 11VZ

Scanned by CamScanner //




A A= dB.1 = d6.4 c. x=24.0,y=1393
‘,‘ b v =dR1 v=1393 d. x=24.0,y=46.4
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n| he lengtly 0f the hypotenuse of a 30°-60°-90° triangle is 4. Find the perimeter. 7. '
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R\ 'ph th vlart is in the shape of an equilateral triangle with sides of 7 in. Find the area of the picce of art.
WUl your answer to the nearest tenth.

o Hone of ' i
of these b 42.4in2 c. 17.3in? @2].2 in.?
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